=257, T (1 P Tefong) )

?(J\BD \QC ) @B - (2‘§K9X?(€/ ?})‘.
BODY (0 TRAVSLATION - (o25)

Re= (R 0s20°)
+ (P40 :w")j“
Re = (00307 L)
¢ F (0342 8 )]

o

ZF = Wdy 0.9397 e - By = MUy :(15"“3)(—'/,5 §L>
\i,(,)iw7 b= B = =375
Zli( % ZM&’«Z i mMg + By + 0,342 L= O

0.HLEle + By = (252 )(9.%( 52)

(65028 8y - 24,52 |

7 My = Z(./WBLFF CORNR  Pfimol VEaoes rom B

—

a0 0% _ 02 -
01 AN = ¥e 9 XC’TM79° 0.07219

10° ﬁ, = (—@.07279)2 : (’0,1)j g
XA




ROB. 6 -1 conT

€04 70" = 6_1? v X =015 s’ =0,053"
\ 4370° = 0[5 y Yy 0N 487 = 0407

( ol Ty=(-0053)0 + (0ag09)
A ¢
2~ Ke= -0,07279 0.2 W,
09397 b 03%20. O

M., 0,07219 ) 0342 k) - (o, 2)(0.9397 fc)_] %

( 02(160£c> o

v

AN
o= | 0093 Ot 0
o, ~3¥.51

=[0.053)-2452) € = (12585)F ™"

A A A
L X 2

ey .
Tk MOy = | 0093 0109 O
=275 O O

:[H(Q—f(@lwoqk/_a,%’XQ = (@6’28‘{)2 Vo




PROB. 1p~[ CoNT.
2Mp = i(%)ﬁﬁ :
~ QAT R + [ B5G = D525 Y

T
{ Re = 3429 N 27 a0°

—_—

0.9397 (3429) - By =375 2 B, = 6.972"
0.3¢2 (3429) F B, 22452 = B, = 2335

Es = (-6972)¢ ¢ (2335 )], O+ mﬁ)"’(;j‘%’/ =732,37°




